Age (yr),x  Price (5100) y-hat Residuals (y - y-hat)

5 85 89.143 -4.143
4 103 103.381 -0.381
6 70 74.905 -4.905
5 82 89.143 -7.143
5 89 89.143 -0.143
5 98 89.143 8.857
6 66 74.905 -8.905
6 95 74.905 20.095
7 70 60.667 9.333
7 48 60.667 -12.667
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Regression Equation

Price ($100) = 160.3 - 14.24 Age (yr), x

Coefficients

Term Coef SE Coef T-Walue P-Value VIF
Constant  180.3 20.8 .71 0.000
Age(yr), x -14.24 3.66 -3.859 0.005 1.00

Model Summary

S R-sqg R-sgladj) R-sqg(pred)
10.6156 £5.384  £1.06% 45,848

Analysis of Variance

Source DF Adjss Adj MS F-Value P-Value
Regression 1 1702.88 170288 1511 0.005
Agelyr),x 1170282 170288 1511 0.005
Errar 2 901.52 112.69
Lack-of-Fit 2 2052 10.26 0,07 0.933
Pure Error & 221.00 14858.23
Taotal @ 260440

Fits and Diagnostics for Unusual Observations

Obs Price ($100) Fit Resid Std Resid
2 95.00 74.90 2010 202 R

R Large residual
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